.     A common factor    .
Factorise these quadratics:

1)  2x2 + 14x + 12 = 

2)  3x2 + 15x + 18 = 

3)  4x2 + 40x +100 =

4)  3x2 + 30x +72 =

.     Harder Factorising A    .
How to factorise quadratics with no common factor
eg 7x2 + 13x – 2 
Method 1: guess and check







7x2 + 13x – 2


What multiplies to get 7 for the x’s and… 
What multiplies to get – 2 for the constant and    (    x           )(    x             )
What combination of these  add to + 13

Guesses
( 7x  –  2 ) ( 1x  + 1 )



( 7x  +  2 ) ( 1x  – 1 )




( 1x  –  2 ) ( 7x  + 1 )




( 1x  +  2 ) ( 7x  – 1 )

eg

1)  5x2 + 11x + 2 


2)  4x2 + 21x + 5 



3)  3x2 – 7x – 6 

.     Harder Factorising B    .
eg 7x2 + 13x – 2 














7x2 + 13x – 2

Method 2:

Take the number in front of x2 and rewrite..  (7x         ) (7x        )

                                                                             7

Multiply the constant by this number also                        7 x -2 = -14

List the factors of this result                   Factors of -14  =  1 × -14    -1 × 14

                                                                                      2 × -7      -2 × 7  

Which pair add to +13                                  +14 and - 1
Put these in the brackets                                       ( 7x  + 14 ) ( 7x – 1 )

                                                                                       7


Factorise top bracket and cancel                        7(x  + 2 ) ( 7x – 1 )

                                                                                 7

Try these

1)  5x2 + 11x + 2 



2) 4x2 + 21x + 5 



3) 3x2 – 7x – 6 

.     Harder Factorising C    .
eg 7x2 + 13x – 2 














7x2 + 13x – 2

Method 3:

Multiply the number in front of x2 and the        7 x -2 = -14

constant


List the factors of this number            Factors of -14  =  1 x -14    -1 x 14

                                                                                 2 x -7      -2 x 7  

Which pair add to +13   (number by the x)          +14 and - 1

Rewrite the question splitting the middle term                 7x2 + 13x – 2


                                                                     7x2 + 14x – 1x – 2

Factorise each pair                                         7x( x  + 2 )  – 1( x  + 2 )

Factorise again                                               (7x – 1)(x + 2)
Try these

    1)  5x2 + 11x + 2 


2) 4x2 + 21x + 5 



3) 3x2 – 7x – 6 
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5)  2x2 – 32 = 	











6)  8x2 – 24x = 














7)  4x2 – 100 =
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Look for a common factor first





Divide out the common factor.





Factorise the quadratic
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